Analysis of Algorithms: CSE 5210
Fall 2013 
Quiz 1
 Points  20

THREE QUESTIONS IN TWO PAGES
Q2. What is the asymptotic time-complexity of the following pseudo-code fragment in terms of n: 

For i = 1 to n do

 For j = i to n do

  For k = 1 to 3 do


Count++;





[5]

Q2.  In order to multiply two polynomials each of order 7 (i.e. the highest power of the variable present is  X^7),  how many roots of  the equation Y^k = 1 will need to be used (or, what is k)?       Explain your answer in a sentence or two.

Write the mathematical form of those roots (e.g.  e^something).
[5]
Q3.  Write a 3-way MergeSort algorithm  and analyze it’s  time complexity by setting up the corresponding recurrence equation.. No need to write the Merge algorithm. [Input: a list of keys.   Output: Sorted list. Hint: Partition list in 3 equal parts instead of 2 parts as in the conventional algorithm.]
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